Example Problem and Solution

To illustrate what a good problem solution looks like, here is a problem from Physics 2210:

e The planet Mars has a satellite (moon), called Phobos, which travels in an approxi-
mately circular orbit of radius 9.4 x 105 m with a period of 7 hours, 39 minutes. From
this information and Newton’s law of gravity, determine the mass of Mars.
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Things to notice:

e The well-labeled picture that defines the symbols used.

e English words that state what principles apply (Newton’s 2nd law and circular mo-
tion), guide the reader through the steps, and add insightful comments on the results
(Kepler’s 3rd law and the comparison to earth’s mass).

e The use of arrows to indicate where one equation implies the next.

e All numbers include units, allowing the author to check (not assume) that the final
answer is in kilograms.

e The final answer is rounded to two significant digits, roughly consistent with the
precision of the given orbital radius.



